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B.E./B.Tech. DEGREE EXAMINATION, NOVEMBER/DECEMBER 2012.
Third Semester .
Civii Engineering
CE 37 — SURVEYING —1
(Regulation 2008)
Time : Three hours _ Maximum : 100 marks

Answer ALL questions.

PART A — (10 x 2 = 20 marks)

1.  What is the fundamental difference between the plane surveying geodetic

surveying?
2:  Why do the scale always drawn in the map?
3.  Define local attraction.
4.  What are the methods of plane tabling?
5.  What is check 1eve1ing“?
6.  Define contour interval.
7.  What is mean by traversir‘lg?
8.  What is Gate’s table?
9.  Define reconnaissance survey.

10. What is centrifugal ratio?
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PART B — (5 x 16 = 80 marks)

A 30 m steel tape was standardized at a temperature of 20°C and under a
pull 5 kg. The tape was used in catenary at a temperature of 25°C and
under a pull of P kg. The cross sectional area of the tape is .02 cm?, its

- weight per unit length is 22 g/m, Young’s modulus = 2 x 10~ kg/cm?

a=11x10"° per°C. Find the correct horizontal distance, if P is equal to
(@) 5 kg (i1) 11 kg.

Or

(1) To determine the width of a river, chain line PQR was laid across it,
the points Q and R being on two sides of river. From point S, 60 m
from Q on line QS, which was at right angles to PQ, the bearings of
points R and P and were found to be 280° and 190° respectively. If
the distance PQ was 32 m, determine the distance QR and draw the
sketch. 10)

(ii)) Describe with a neat sketch, the construction and use of an open
cross staff. (6)

The following bearings were observed in a compass traverse :

Line FB BB
AB 305°00’ : 125°30"
BC 75°30° 254°30°
CD 115°30° 297°00°
DA 165°30° 345°30’
EA 225°00 44°00°

At which of these stations would local attraction be suspected? Find the
corrected bearings and included angles of the lines.

Or

What is a three-point problem? Describe how it is solved by Bessel’s
method. :

The following consecutive reading were taken with a leveling instrument
at intervals of 20m.

2.375, 1.730, 0.615, .3.450, 2.835, 2.070, 1.835, 0.985, 0.435, 1.630, 2.255
and 3.630 m. The instrument was shifted after the fourth and eighth

. reading. The last reading was taken on a benchmark of RL 110.200m.

Find RLs of all points.

.

Or

What are the different methods of contouring? Describe any method

along with sketch.
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Explain with neat sketch the essentials of a transit theodolite. What are
the different errors in theodolite work? How are they eliminated?

Or

From the following data of a closed traverse PQRS; calculate the length
and bearing of the line SP.

Line  Length,m WCB
PQ 85 N83°36’E
QR 137 N42°15'E

RS 67 : N63°18'W

Two tangents intersect at chainage 1250 m. The angle of intersection is
150°. Calculate all data necessary for setting out a curve of radius 250 m
by the deflection angle method. The peg intervals may be taken as 20 m.
Prepare a setting out table when the least count of the vernier is 20”.
Calculate the data for the field checking.

Or

Describe the different surveys to be carried out for the Highway projects.
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